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AR 4 — 30
4, 5
4-5-1
1.
RIMP
PC —2K  PCH2K { ) . :
. AVR 4K (8K N,
PC+1 2K =k =2K !
PC&(PCH1)+ K
RIMP Kk — 2K=k=2K PC< (PC+1)+k
16 :

[ 1200 | kikk [ kikk | kikkk |

{ SREG! :
[ T H S V N Z C
: ( 4511.ASM)
.ORG 0X0010 — i
LP:cpi ril6,$42 ;. 1(R16)=$42 or 41 RIMP |
brne LP2 ; , o T
rjmp LP1 ; +2K F oK
LP2:ADD R16,R17 =
inc ri16 |/
-ORG $080F ;ORG  $0810, -2K,0RG  $080F
-2K
; PC+1($080F+1=$0810), $0010 $0810 -2K
;  PC+1($0810+1=$0811), $0010 $0811 -2K,
LP1:RIMP LP ; ORG  $0810 ,
;. RWMP : C ) , ,
PC&(PCH+1)+k
Words: 10 2 bytes!
Cycles: 2
2.

1IMP—
: zZ(16 ) o Z
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AVR 4 — 31
16 , 64K (128K i
1IMP— : , : , ,
1 1
, ?
: PC&Z (15—0)
PC {15-0} «Z {15—0J
1IMP None See OPeration
16
[ 1001 [o0100 |[xxxx |1001 |
{ SREG :
| T H S % N VA C
: ( 4512 .ASM)
ORG $0010
LP:MOV R30,RO ; (RO) Z 8 R0 Z 8
MOV R31,R1 R z 8 ,R31  Z 8
ijmp ; z
-ORG $0200
LDI R20,$11 ;  $0201 ,  (RO)=$01,(R1)=02, 1JWP
LDl R21,$22 ;  $0202 ,  (R0)=$02,(R1)=02, 19MP
LDI R22,$33 ;  $0203 ,  (R0)=$03,(R1)=02, 1JWP
LDI R23,$44 ;  $0204 ,  (R0)=$04,(R1)=02, 1JMP
LDI R24,$55 ;  $0205 ,  (R0)=$05,(R1)=02, 1JWP
LDI R25,$66 ;  $0206 ,  (R0O)=$06,(R1)=02, 1JMP
1JVP ; $0207 ,  (RO)=$07,(R1)=02, 1JWP
; Z
Words: 1{ 2 bytes!
Cycles: 1
3.
JMP—
: aM ¢ , RIMP.
JMP— 4 ¢ ;
: , !
: PC&k
JMP k 0=k = 4aM PC&k

32
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AVR 4 — 32
1001 010k | kkkk 110k
kkkk kkkk | kkkk kkkk
{SREG} :
| T H S v N Z C
: ( 4513.ASM)
.equ Ip1=$0f00
Ip:mov rO,r1 ; (r1)=12
Jmp 1p2
;AT90S8515  AVR ,
; AVR  MEG103
.org $0f00
Ip2:swap rO
Jmp Ip ;
Words: 2 (4 bytes)
Cycles: 3
4.5.2
1.
BRBS— SREG
: , SREG , , PC
PC : PC —64= = PC+63. K PC : 2

If SREG(S)=1 then PC&(PC+1)+k,else PC&PC 1

BRBS S k 0= S= 7 —64= k=-+63 PC&(PC+ 1)+ k

PCEPCH |
16
| 1121 | 00Kk | kkkk | ksss |
( SREG ) :
T H S v N 4 C
- =-1-1T=-1-1-1T=1
¢ 4521 AS)
LP:bst r0,3 ; 2(R0)=0B0000 1000;RO 3 SREG

:(R0O)=0B0100 0100;R0 3 SREG

T
T
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brbs 6,LP1 ; SREG 6 (T=1) ,
SET ;T 1
RIMP LP ;
LP1:CLT ;T
RIMP LP ;
Words: 1102 bytes)
Cycles: I if condition is false

2 if conditlon is true

BRBC— — SREG
: , SREG , , PC .
PC : PC— 64= = PCt+ 63. K PC :

If SREG(S)=0 then PC&(PC+1)+k,else PC&PC 1
BRBC S: k 0=S = 7 , -64=k==+63 PC&(PCH1)+ k

PC&PCH |1
16

| 1111 [ookk | kkkk [Kkoo1 |

{ SRE! :
I T H S v N Z C
: ( 4522 _ASM)
CPI R20,5 ;R20 05 , (R20)=6 (R20)=5
LP:BRBC 1,LP1 ;SREG , 1
CLZ
RIMP LP ;
LP1:SEZ ;271
RIMP LP ;
Words: I {2 bytes!
Cycles: 1 if condition is false
2 if condition is true
3.
BREQ
: L) (Z:I! Z L) PC L
CP. CPI. SUB  SUBI , Rd

Rr H : " PC
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AVR 4 — 34

1pC—64= =PC+63. K pC : 2 ! BRBSI
K.

If RI=Rr(z=1)then PC&(PC  1)+k, Pc&pc 1 CPCPL UBBS;IEE‘SH’?WTWJ

BREQ k -64=k= 163 PC&<(PCH+ 1)+ k
PC&PCH+ 1
16

| 1111 [ookk | kkkk [ Kool |

i SREJ

: ( 4523 .ASM)

Ip:cp ri,r2 ;o t(RD=%$AA. (R2)=%AA

breq Ipl ; , , VA
inc rl 3+l
rjmp Ip s

Ipl:dec r1 ;-1
rjmp Ip ;

Words: 172 bytes)
Cycles: I if condition is fslse
2 if condition is true

4,
BRNE—
: : (Z)s z : PC o CP.
CPI. SUB  SUBI , Rd
Rr : o PC : PC— 64
= =PC+ 63 K PC , 2 { BRBCIK .
+  If Rd*=Rr(Z=0) then PC&(PCH+1)+k: elesPC&PCH1
BRNE  k —64=2 k =+63 PCE(PCH1)+ Kk
PC&PCHI
16

[ 1111 [oikk [kkkk | kool |

{SREG
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AVR 4 — 3H
s ( 4524..ASM) CP,CPI,SUB,SUBI 4= 4 i 75

Ip:cp ri,r2 7 2(R1)=$AB.(R2)=$AA BRNE
brne Ipl ; , , Z

inc rl ;+1 PC+1

rjmp Ip ;
Ipl:dec r1 ;-1

rjmp Ip ;

Words: 1 i2bytes)
Cycles: 1 if condition is false
2 if condition is true

5. C
BRCS-
: : (cls C
PC : PC—64=  =PC+63. K PC
BRBS 0: Kl.
: 1fC=1 then PC&(PC+1)+k. eles PC&PCt+ 1
BRCS k  —64= k =+63 PC& (PCH1)+k
PC&PCHI
16
| 1111 [ookk | kkkk [Kooo |
( SREG) :
T H S V. N z C
: ( 4525_ASM)
SEC ;C=1, C

LP:BRCS LP1 ;=1 ,C=0

SEC ;C=1
RIMP LP
LP1:CLC ;C=0
RIMP LP
Words: 172 bytes)
Cycles: I if condition is false

2 if condition 1is true

BRCC—
: (Cl C : PC

PC : PC —64= #=PC+63. K PC : 2
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AVR 4 — 36

{ BRBC 0. K.
If C= 0 then PC&(PCH1)+ks eles PC&PCH+1

BRCC k —64= k =+63 PC&(PCH1)+k

PC&PCHI
16
| 11211 [o01kk | kkkk | Kooo |
{ SREG :
1T H S v N Z c
e e e e B e e
: ( 4526.ASM)
cLe ;C=0, c
LP:BRCC LP1 ;=0 ,C=1
cLe ;C=0
RINP LP
LP1:SEC ;C=0
RIWP LP

Words: 1 (2 bytes!
Cycles: I if condition is false

2 1f condition Is true

7.
BRSH- { i
: : (Cl C : PC
CP- CPI. SUB  SuBl : Rd
Rr : . PC : PC—64=
= PC+63. K PC : 2 ! BRBS 0. Kl.

If Rd=Rr(C=0)then PC&(PC+1)+k eles PC&PC+1

BRSH k  -64= k =463 PCE(PCH1)+ k
PC&PCH 1
16

| 1111 [ 01kk | kkkk | K000 |

i SREGJ
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AR 4 — 37
: ( 4527 .ASM)
Ip:subi r19,2 ; , :(r19)=1
brsh Ipl ; , , C
inc rl9 ;(r19)+1 CP,CPI,SUB SUBI 4 1 115 |
inc rl9 \E BRSH
inc ri9
rjmp Ip : PC+1
Ipl:inc ri9 ;(r19)+1
rjmp Ip ; =
=0
Words: 112 Dbytes)
Cycles: I if condition is false
2 if condition is true PC+1+K
: )
8.
BRLO { i
: , (Cl C : PC
CP. CPI. SUB  SUBI : Rd
Rr : . PC : PC —64=
=PC+63. K PC : 2 { BRBS 0: Kl

If Rd<C Rr(C=1)then PC&(PCH+1)+k. eles PC&PCH1

BRLO k  -64=k =+ 63 PC&(PCH1)+ k
PC&PCH |
16

| 1111 | ookk | kkkk [ kooo |

i SREG?

( CP,CPI,SUB,SUBI 411 434 5 ¥
: L

Ip:subi r19,2 ; , :(r19)=2
brio Ipl ; , )
; C
inc rl9 ;(r19)-1
rjmp Ip ;
Ipl:inc r19 ;(r19)+1
inc ri9
inc ri9
inc ril9

rjmp Ip

Words: 1 {2 bytes!
Cycles: I if condition is false
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AVR 4 — 38

2 1f condition is true

9.
BRMI—
: : (N, N : PC .
PC : PC— 64= =PC+ 63 K PC , 2 {
BRBS 2, Kl.
If N=I then PC&(PC+1)+ k. eles PC&PCH1
BRMI k —64= k =163 PC&(PCHD)+ k
PC&PCHI
16
| 1111 [ookk | kkkk [ K010 |
{ SREG :
T -T-T-T-T-]
: ( 4529 _ASM)
Ip:subi ri18,2 ; , :(r18)=2
brmi Ipl ; N=1, N=0
; N
inc rl8 ;(r1g)+1
rjmp Ip ;
Ipl:inc rl8 ;(r18)+1
inc ri8
inc ri8
inc ri8
rjmp Ip ;
Words: 1 (2 bytes!
Cycles: I if cocdition is false
2 if condition 1is true
10.
BRPL
: : (NJ, N , PC . PC
PC— 64= =PC+ 63. K PC , 2 {
BRBC 2: Kla
If N= 0 then PC&(PC 1)+ k- eles PC&PC+ 1
BRPL k -64=k==+63 PC&(PCH+1D)+ k
PC&PCHI
16

| 1111 |0lkk |kkkk |[K010 |
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AVR 4 — 39
{ SRE} :
I T H S V N Z C
: ( 45210.ASM)
Ip:subi r18,2 ; , -(r18)=2
BRPL Ipl ; N=0, N=1 N
inc ri8 ;(rig)+1
inc rl8
inc ri8
inc rl8
rjmp Ip ;
Ipl:dec r18 ;(rig)+1
dec ri8
rjmp Ip ;
positive: nop
Words: 1 {2 bytes) CP.CPI,8UB SUBl i 4 g 7
Cycles: I if condition is false BRGE
2 if condition is true
11.
BRGE— { i
: : £Sh S
, PC a CP. CPI. SUB  SUBI
, Rd
Rr , .
PC : PC —64= =PC+63. K
PC , 2 { BRBC 4: K.
If Rd=Rr (N V= 0) then PC&(PCt+1)+k. eles PC&PCH+1
BRGE k —64= k =163 PC&(PCHD)+ k
PC&PCH |
16
| 11211 [o01kk | kkkk | K100 |
{ SREG :
I T H S V N Z C

: ( 45211 . ASM)
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AVR 4 — 40
Ip:subi r18,2 , -(r1d)=2
brge Ipl ; S=0, S=1 S
inc ri8 ;(r1g)+1
inc rl8
inc ri8
inc rl8
rjmp Ip ;
Ipl:dec r18 ;(rig)+1
dec ri8
rjmp Ip ;
Words: 1 (2 Dbytes!
Cycles: I if condition is false
2 if condition 1is true
12.
BRLT— { i
: , £Sh S a PC
CP. CPI. SUB  SuBI , Rd
Rr , a PC : PC —64=
=PC+63. K PC , 2 { BRBS 4 Kla
If Rd<C Rf (N V=1)then PC<&(PCH+1)+k: eles PC&PCH1
: : : CP,CPI,SUB,SUBI 354 41 i1 15 4
BRLT k  -64= k =-+63 PC&(PCH1)+ k
PC&PCHI
16

| 1111 | ookk | kkkk [ k100 |

i SREGJ
P105
- [-T-T-T-]
: ( 45212 .ASM)

Ip:subi r18,2 ; , -(rl8)=2
brit Ipl ; S=0, S=1 S
inc ri8 ;(rig)+1
inc ri8
inc ri8
inc ri8
rjmp Ip ;

Ipl:dec r18 ;(r18)-1
dec ri8
rjmp Ip ;

Words: 102 bytes!
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AVR 4 — 41

Cycles: I if condition is false
2 if conditlon is true

13.
BRHS--
: , (Hy H , PC
PC : PC —64= #=PC+63. K PC : 2
{ BRBS 5: Kla
If H=Ithen PC&(PCH1)+k. eles PC&PCH1

BRHS k —64= k =-+63 PC&E(PCHD+ k

PC&PC+ 1
16
| 1111 [ookk | Kkkkk | k101 |
{ SREG :
[ T H S V N Z C
: ( 45213 .ASM)

Ip:add r10,r11 ; :(r10)=5 ,(r11)=5 ,(r12)=5

brhs 1Ipl ; H=1

; (=0

dec r10 ;(R10)-1 ‘

dec r10

rjmp Ip ;
Ipl:add r10,r12 ;

rjmp Ip ;

Words: 1 (2 bytes)
Cycles: I if condition is false
2 if condition ils true
14,
BRHC—
: : (HIy H : PC .
PC : PC— 64= =PC+ 63. K PC , 2 {
BRBC 5: Ki.
If H=0 then PC&(PCH1)+k: eles PC&PCH+ 1
BRHC k -64= k =+ 63 PC&(PC+ 1)+ k

PC&PCH 1
16
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AVR 4 — 42
[ 1121 |owkk | kkkk | k101 |
{ SREG) :
| T H S V N Z C
: ( 45214 . ASM)
Ip:add r10,r1l ; :(r10)=5 ,(r11)=5 ,(r12)=5
brhc 1pl ; (H)=0 ,(H)=1
dec r10 ;(R10)-1
dec ri10
rjmp Ip ;
Ipl:add r10,r12 ;
rjmp Ip ;
Words: 1 {2 bytes!
Cycles: 1 if condition is false
2 if conditlon is true
15. T
BRTS—T
: . T . T . PC a PC
PC —64= =PC+63. K PC ' 2 i BRBS
6, Ki.
:If T=1 then PC&(PCH1)+k. eles PC&PCH1 | BRTS
BRTS Kk -64= k =+63 PCcE(PCHD)+ k —r'—-l'—l——
PC&PCHI
16 : 7 N1
'SREG 7%= i
TR |
[1111 Jookk [kkkk [ki1o | I [ PC+1+K |
=0 L
i, SRE) :
| T H S vV N Z C
: ( 45215 . ASM)
Ip:bst r3,5 ;R3 5 SREG T ,  2(R3)=$AA
brts LP1 ;(M=1 ,(M=0
rol r3 ;r3
rjmp Ip ;
LP1:rol r3 ;r3

rjmp Ip ;
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AVR 4 — 43

Words: 1102 bytes)
Cycles : 1 if condition is false
2 if conditlon is true

6. T
BRTC—T
: , T , T , PC “ PC
PC—64= =PC+63. K PC , 2 { BRBC
6: Kla
IfT=0thenPC&< (PCH+1)+k  elesPC&PCH+1
, : : .|, BRTC
BRTC k  64=k =+63 PC&(PCH1)+k [ Po+ ]
PC&PCH =
16

| 1111 | 01kk | kkkk | k110 |

{SREG.
I T H S % N Z
= = =1 =1 —=1-=1 -1
: ( 45216.ASM)
bst r3,5 ;R3 5 SREG T ,
Ip:brtc Ipl ;T 0 , 1
clt ;(M=0
rjmp Ip
Ipl:set ; (D=1
rjmp Ip ;
Words: 172 bytes)
Cycles: I if condition is false
2 if condition is true
17.
BRVS
: : AN V : PC . PC
: PC—64= =PC+63. K PC , 2 i
BRBS3: Kl.
IfV=IthenPC& (PCH 1) +k:  eles PC&PCHI
BRVS k:  -64=k=%+63 PC&(PCH D)tk
PC&PCH1
16

| 1121 | ookk | kkkk | ko1l |
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AVR 4 — 44
{ SRE} :
I T H S v N Z C
: ( 45217 .ASM)
Ip:brvs Ipl ; =1 ,(\=0
sev ; !
rjmp Ip ;
Ipl:clv : ) o
rjmp Ip
words: 172 bytes)
Cycles: I if condition is false

2 if condition is true

18.
BRVC—
: , iVl v : PC o PC
PC—64= =PC+63. K PC , 2 ! BRBC3:
Kla
IfV=0thenPC& (PCH1)+ ki eles PCEPCH1 J; BRYC
' ' o | PE+L |
BRVC k —64=k=-1+63 PC& (PCH1)+k s
PC&PC+1 S
16 : —0
{8REG 7h——
R e
| 1111 | olkk [kkkk | ko1l | N SecErdl
e T
I: 1 J )
{ SREG :
1 T H S \% N YA C
: ( 45218 ASM)
Ip:brve Ipl ; (\)=0 ,(V=1
clv ; N~ o
rjmp Ip ;
Ipl:sev ; w1
rjmp Ip ;
Words: 112 hbytes!
Cyclse: lif condition 1is false

2 if conition is true

19.
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AVR 4 — 45

BRIE—
: 4 BB [ 1, PC

PC : PC64= =PC+63. K PC : 2 {
BRBS7: K.
If 1=IthenPC&(PC+1)+k: elesPC&PCH1

BRIE k —64=k=+63 PC&(PCH+1)+k
PC&PCH1
16

| 1121 | ookk | kkkk | k111 |

i SREGJ

: ( 45219.ASM)
LP:BRIE LP1 ; =1
: I

LP1:CLI ; (D=0
RIMP LP ;

words: 1 {2 bytes!

Cycles: I if condition is false
2 if condition is true

20.
BRID
. . P
: PC " PC
—64= =PC+ 63 K PC b : 2
BRBC 7. Kl.

: If 1=0 then PC&(PCH1)+ k- else PC&EPCH 1

BRID k —64= k =+63  PC&(PCH1)+ k
PC&PC+1
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AVR 4 — 46
16
[ 1121 |owkk | kkkk | k111 |
{SREGJ
| T H S v N VA C
. ( 45220.ASM)
LP:BRID LP1 ; D=0 , (D=1 CPSE
AIOS
RIMP LP ;
LP1:SEI ;(D=1
RIMP LP ;
Words: 1102 bytes)
Cycles: I if condition is false

2 if condition is true

h

21.
CPSE—

= PC#+1,42,+3

Rd Rr '
Rd=Rr: a
If Rd=Rr then PC&PC+2 ({or 3) else PC<PC+1

CPSE Rd, Rr 0= d= 31, 0= r=31 PC<PC+ 1

PC&PCH 2
PC&PCH 3
16
|ooo1 |oord |dddd | rrer |
{ SREG :
| T H S \ N YA C
: ( 45221 .ASM)
Ip:inc r4 7 (rd)=$77 ,(ro)=$77
;o (rd)=$76 ,(r0)=$77
Ipl:cpse r4,r0 ;rd 10 )
lds r10,$0100 ; SRAM $0100 R10
nop

dec r4 ;(rd)-1
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AVR 4 — 47

cpse r4,r0 ;4 r0 ,
rjmp Ipl ;
mov r10,r0 ;
rjmp Ip ;

Words: 1 (2 bytes)

Cycles: 1

22.

SBRC
If Rd (b? = 0 then PC&PCH2 for 33 eles PC&PC+ 1

SBRC Rr: b 0= r= 31, 0= b=7 PC&PC 1

pC&pC+ 2
PC&PC+ 3
16
[ 1111 [110r | rrrr | Xbbb |
i SREGJ :
| T H S v N Z C
= == =1 =1—=1-=1 -1
: ( 45222 .ASM)
Ip:sub ro,r1 ; 1(r0)=%$80, (r1)=%$70
sbrc r0,7 ;r0 7 , 1
sub ro,r1
swap r0 ;r0
rjmp Ip ;

Words: 1 (2 bytes)
Cycles: 1 if condition is false(no skip)
2 if condition 1is true {skip is exectued!

23.
SBRS

If Rr(b) =1 then PC&PCt+ 2 tor 3} eles PC&PC+ |

SBRS Rry b =r=3l, 0=b=7 PC&PCH+1

PC&PCH-2
PC&PCH3
16

1111 [112r [ reer | Xbbb |
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AVR 4 — 48
{SREG !
I T H S v N Z C
: ( 45223 .ASM) \l/ SBRS
Ip:sub ro0,rl ; :(r0)=$80,(r1)=$70 PC+1
sbrs r0,7 ;ro 7 , 0
sub ro,rl ;
swap r0 ;10
rjmp Ip ;

Words: 1 {2 bytes!
Cycles: 1 if condition is false ino skip!
2 if condition is true ({skip Is exectued!

B PC+1,42,+3

24. 1/0
SBIC—1/0
: 150 . . a 32
1/0 . . 0~31.
If 1/0P. b= 0 then PC&PCt+2 tor 3} eles PC&CH1
SBIC P,b 0==P=31. 0==b=7 PC&PC+1
PC&PCH2
PC&PC+3
16
| 1000 [1001 [PPPP | Pbbb |
i SREG :
1 T H S V N Z C
: ( 45224 . ASM)
Ip:shic $lc,1 ; (EECR)=%$00, .equ EECR=$lc, 1, o , 1
; 1/0 , N 1,
) $1C ( )
rjmp Ip ;
B iy 30 _ _(O] x|
F14) | am 000

00 00 00 00 00 00 OO0 00 00 OO0 OO0 00 EZ0 00 00 OO0 oo
10 00 00 OO0 00 00 OO0 00 QO OO0 OO0 00 00 OF 00 00 oo
E0 0O 00 OO 00 00 OO0 00 00 00 o0 00 00 a0 oo 00 ao
30 00O 00 00 0O 00 OO0 00 0O OO0 o0 CO 00 0o o0 OO0 oo

Idi R16,%$0f ;
OUT $1C,R16 ;o i/o 1 1
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rjmp Ip
Words: 114 2 bytes)
Cycles: 1 if condition is false ino skip!
2 if condition is true (skip Is exectued)

25. 170
SBIS—1/+0
: 1/0 . ,
32 150 ' 0~31.
If 1/0P, b=I1 then PC&PC+2 tor 3} else PC&PC+1

SBIS p,b 0= P= 31. 0= b= 7 PC&PC+ 1

PC&PCH+ 2
16 : PC&PCH+ 3
| 1000 [12011 |[ppPp |Pbbb |
{ SREG :
| T H S V N VA C
: ( 45225 . ASM)
Ip: Idi R16,$0f :
OUT $1C,R16 ; i/o 1 1
Lpl:shis $1c,1 ; (EECR)=%$00, .equ EECR=$1c, 1, 1, 0
; 1/0 ,
. 1, 2 $1C ( ), 45225B.ASM
rjmp Ip ;
Idi R16,%00 ;
OUT $1C,R16 ;o i/o 1 0
rjmp Ipl
Words: 1 (2 bytes!
Cycles: I if condition is false ino skip!
2 if condition is true (skip Is exectued!
1 I:PC :I 1 1
PCB 1 1 a 1
PC:
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AVR

4 — 50

26.

RCALL—

{

PC+1 (2K

CALL ).

: PC&(PCH1)+k

RCALL
16

(4K

k —2K= k =2K

| 1201 | Kkkkk | kikk | kkikk |

i SREGJ

{RCALL

PCe(PCHL)+ K

ser temp
out DDRA,

forever:
clr temp

out PORTA,

temp

temp

Idi temp,1200

rcall

delay _mS

ser temp

out PORTA,

temp

Idi temp,1200

rcall
rjmp

delay_mS:

Idi zI,

delay _mS
forever

1ow(2500)

Idi zh,high(2500)
delay_loop:

dec zI
brne
dec zh
brne

dec temp

brne
ret

Words:
Cycles:

217.

;-1
delay_loop

;-1
delay_loop
;-1

delay mS

DIP40LED.ASM)

$FF,

;PORTA

1 2 bytes!

3

ICALL—

LED
LED

LED
LED

Zi16 )

|
~

PC+1

RCALL

5 il
e |
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AVR 4 — 51

16 : 64K 1128 ]

PC ©15—0) «Z (15—0!
PC {15—0} «Z (15—0)

ICALL None See operation

[ 1000 |o0101 |xxxx |1001 |

{ SREG :
T H S \ N YA C
L -l -l -1 -1 -] -] -1 —|
: ( 45227 . ASM)
.ORG $0010
LP:MOV R30,R0 ; (RO) Z 8 ,R30 Z 8
MOV R31,R1  ; (R)) Z 8 JR3L Z 8
ICALL ; Z . ™
.ORG $0200
LDI R20,$11 ;  $0200 ,  (R0)=$00,(R1)=02, ICALL
LDI R21,%$22 ;  $0201 ,  (RO)=$01,(R1)=02, ICALL
LDI R22,$33 ;  $0202 ,  (R0)=$02,(R1)=02, ICALL
LDI R23,%$44 ;  $0203 ,  (R0)=$03,(R1)=02, ICALL
LDI R24,$55 ;  $0204 ,  (R0)=$04,(R1)=02, ICALL
LDI R25,$66 ;  $0205 ,  (R0)=$05,(R1)=02, ICALL
ICALL ; $0205 ,  (R0O)=$06,(R1)=02, ICALL
; VA
move r30. rO
icall
Words: 1 © Zbytes!
Cycles: 3
28.
CALL—
: ! i
{  RCALL j
: PC&k
PC<k
CALL k 0= k = 64K PC&k STACKPCH+ 2
SP&SP—2
CALL k 0= k = 4 PC&k STACKEPCH+ 2
SP<SP—3

32
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AVR 4 — 52

1001 010k | kkkk 111k
kkkk kkkk | kkkk kkkk

: ( 45228 .ASM)
move rl6,r0
call delay_mS ; , ™
-ORG $0200
delay_mS:
Idi zI,1ow(1990)
Idi zh,high(1990)
delay loop:
dec zI
brne delay_loop
dec zh
brne delay_loop
dec temp
brne delay_mS
ret ;

Words: 2 (4 bytes!
Cycles: 4

29.
RET—

PC ©15—0i € STACK
PC ©{21—0)} €STACK

RET None See Operation SP&SP+ 2
RET None See Operation SP&SP+ 3
16 :

[ 1001 o101 [oxxo [1000 |

: ( 45228 . ASM)
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